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b What is the ratio of nonunion workers to the total number of
workers?

c. What is the ratio of union workers to nonunion waorkers?

d. What is the number of nonunion waorkers to union workers?

3. Fram a total yearly budget of $18,000,000, the city of Canroy
spends £3.000.000 on agricutture, What is the amount spent on
agriculture to the amount not spent on ogriculture?

4. A math test of B0 questions included 15 fraction problems and &
decimal problems, What is the ratio of the total number of fraction and
decimal problems to the number of questions aon the test?



